Large Thru-Hole High Speed Power Chuck

B'Zoo series

Globally acknowledged
standard chuck

Ml Dimensional Drawings

B-208
KITAGAWA
T JAPAN

X M Serration pitch 1.5
(Size x Depth)

d

=7 1 -
L O] ¥¢| » TN
B © B I
G
= %7%
— 1l
b7 L]
E V)
LW
B

Gripping Characteristic Graphs

% With standard blank soft top jaw.

240 }
220 B
20
~ 180 -
B212
8 160 —
o .
s 14075510
£ 120 /—g-208
& 10—
W g0 —B-p06—+—
8 g4
(S
20 \ B=204
+ B-205]
0 1000 2000 3000 4000 5000 6000 7000 8000

Speed : min!

B Dimensions :Mounting Bolt P. C. D for B—204 & B—205 : 120° Pitch : 3pcs. #%Blank draw nut equipped.

Dimensions

Model C F mgx mcl-;n H J K mléx. M N P m%x. rr%n. mlgx. mFi‘n. S w

B-204 | 110| 59| 85| 706|3-M10| 26| 35 |- 65[175/12|38 | M32x15|24| 495/ 14|11.25| 6.75/23 |20.3 | 23| 2 |10 |155|4 - -
B-205 | 135| 60|110| 826/3M10|33] 1 |- 9 |20 (12|45 | M40X15|26| 54 |14(19.75| 7.75|265(238 | 23| 2 |10 15| 4 - -
B-206 | 169| 81(140|1048|6-M10| 45|11 |- 1 |19 |20|60 | M56x20[29| 66 |20(22.75| 925(32 (2925 26| 2 |12 | 16/5|M6X10(116
B-208 |210| 91|170(1334|6M12| 52/145 |- 15|205/30| 66 | MB0X2.0{39 | 95 |25(29.75|14.75| 38.7 |35 35| 2 |14 | 20{5|MEX12|150
B-210 | 254|100 (220 |1714|6-M16| 75| 85 |-105(25 |45|94 | M85x20]43 (110 |30(33.75/1425|51 |466 | 40| 2 |16 | 22| 5| M8x15|190
B-212 |304|110(220 [1714|6M16| 91| 8 |-15 |28 |50|108/M100x20{51 [111 |30(45.75|16.75|61.3|56 50| 2 |21 23| 6 | M8x15 (190
B-215 | 381|147 |300 |235.0| 6-M20 10023 0 [35 |50[120[M110x20|61 (135 |43(54.75|2025|70 |64.7 | 50| 2 |255| 31|6 |M10x16/260

[ | Specifications %Max. speed is shown using actual test data.
Specficatns Thru-Hole anplngrangemm Jaw Stroke  Plunger  Max. Draw Bar Max. Gripping \ax. Speed NetWeléhthm Moment of inertia Matching Max. pressure  Matching  Matching
)

Model O IEEM s e S oK o el [T ) e e ke:m:  Cylinder MPa(ksf/cm?) Hard top jaw Soft top jaw

B-204 26 |110 7 54 10 14 (1428) 285 (2908)] 8000 4 0.007 | FO933H |280 (286)] HBO4N1 | SBO4AN
B-205 33 |135 12 54 10 175(1784)| 36 (3671)] 7000 6.7 0018 | FO933H |343 (350)] HBO4N1 | SBOSN1
B-206 45 169 16 55 12 22(2243)| 57 (5812)] 6000 119 0058 [S1246 |28 (286) HBOBB1 |SBOEL1A
B-208 52 |210 13 74 16 348(3549) | 86 (8769)] 5000 22.3 0.170 |S1562 |265 (@27 ) HBO8BAT |SBO8B!
B-210 75 254 31 88 19 43 (4385) 11(11319) 4200 345 0315 |S1875 |27 (275) HB10A1 |SB10B!1
B-212 91 304 34| 106 23 55 (6608) | 144(14686)] 3300 55.3 0738 |S2091 |27 (275) HB12N1|SB12N1
B-215| 100 |381 50| 106 23 98(9993) | 249(25391)] 2800 | 116 2.20 F2511H 33 (337) HB15N1|SB156N]1




